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Teste Intermédio

Inglês

Entrelinha 1,5 (Versão única igual à Versão 1)

Duração do Teste: 15 minutos | 06.03.2012

9.º Ano de Escolaridade

Decreto-Lei n.º 6/2001, de 18 de janeiro

Atenção! Não vires esta página até receberes a indicação para o fazeres.

Deves escutar em silêncio, com muita atenção, e seguir as instruções.

Utiliza apenas caneta ou esferográfica de tinta indelével, azul ou preta.

Não é permitido o uso de dicionário.

Não é permitido o uso de corretor. Sempre que precisares de alterar ou de anular uma resposta, 

risca, de forma clara, o que pretendes que fique sem efeito.

Escreve, de forma legível, a numeração dos grupos e dos itens, bem como as respetivas respostas. 

As respostas ilegíveis ou que não possam ser claramente identificadas são classificadas com 

zero pontos.

Para cada item, apresenta apenas uma resposta. Se apresentares mais do que uma resposta a 

um mesmo item, só a primeira será classificada.

As cotações dos itens encontram-se no final do enunciado do teste.

Teste Intermédio de Inglês

Parte III – Compreensão do oral

Entrelinha 1,5
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ACTIVITY A

Items 1 to 6

You will hear a news item on the radio about a young mountain climber.

For items 1 to 6, fill in the missing information.

Write only the numbers of the items and the information on your answer sheet.

Name: George Atkinson

Age: 1.

Number of people who have conquered the Seven Summits: 2.

Month in which George conquered Mount Everest: 3.

Year in which Mount Everest was first climbed: 4.

Reason why he didn’t climb Everest the first time: 5.

Reason for his trip to France: 6.
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ACTIVITY B

Items 7 to 12

You will hear a student interviewing the head teacher on the school radio.

Choose the correct option for items 7 to 12.

Write only the numbers of the items and the letters (A, B, C or D) on your answer sheet.

7.  Mr Brown has been a head teacher for

(A)  15 years.

(B)  5 years.

(C)  26 years.

(D)  50 years.

8.  This school is

(A)  selective.

(B)  religious.

(C)  unique.

(D)  varied.

9.  Mr Brown likes being the head because

(A)  students are very successful.

(B)  teachers, family and students join in the effort.

(C)  he always thought he could be very successful.

(D)  he has always worked hard.
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10.  At this school, students

(A)  do well in Maths and languages.

(B)  have to improve their Maths and languages.

(C)  should begin learning Maths and languages.

(D)  should learn more Maths than languages.

11.  Mr Brown would never be a good

(A)  actor or lawyer.

(B)  writer or politician.

(C)  actor or writer.

(D)  civil engineer or politician.

12.  At the end, Mr Brown

(A)  praises Lisa for the interview.

(B)  thanks Lisa for the interview.

(C)  tells Lisa to do more activities.

(D)  wishes Lisa would get more involved.

FIM



COTAÇÕES

Atividade A .............................................................................................................. 50 pontos

1.
2.
3.
4.
5.
6.

50 pontos

Atividade B .............................................................................................................. 50 pontos

7.
8.
9.

10.
11.
12.

50 pontos

	 TOTAL..........................................  100 pontos
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